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A AR B Y AVEVLEY 33 [ (L 4 13 29 21 | 28 05 91
AH A A4 an% 43 B¢ K 4 14 04 17 | 29 02 30
=H BRI I Vayrk 04 B Ik 4 13 53 42 | 28 52 13
R Bk vt ank 28 It JiE 4 13 57 91 | 28 21 80
f+REE N5y )7’ 08 #% Ik 3 13 57 59 | 29 29 44
ey S ny = an) 25 ¥r A 3 13 45 56 | 28 27 77
ik Bk v MV 20 & By 3 13 53 77 | 28 48 37
KE FEE AT hyak 45 = IFf 3 13 57 25 | 29 02 44
A KF AR F V7T 03 &= F 2 14 05 12 | 29 18 64
BN FFik NFD ey 20 B % 2 13 46 54 | 28 15 65
LR Al )80 V9 14 731 2 14 06 15 | 29 39 32
KA & T Eh Yay 43 HE K 1 14 07 93 29 37 78
R IR SR VEEVL 33 [l 1 13 54 90 | 29 08 31
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i VRV I Vi L JiE 4 14 07 84 | 28 45 15
ik FHie AN e7 b = & 4 14 06 66 | 28 36 72
HH G G EEVAZ T 1E 3 14 11 37 | 29 11 96
TiE % AR oA 3 14 19 57 | 28 44 01
SEH K YNTE BT AR oL #R 3 14 18 64 | 28 54 81
SR AL Hyd AT jE K 3 14 01 67 | 28 45 89
HH L& WE VY + 1 3 13 45 39 | 27 58 60
B B Jufy agtTy 5 E 2 14 20 61 | 29 24 14
AN N avy aghuy KW 2 14 22 46 | 29 31 72
ITH Bk a/p” tm = 2 14 23 77 | 29 39 62
—ff YK A ank JEE RS 2 14 17 67 | 29 17 96
i Fi, 73 AP Vay I 1 14 05 50 | 28 53 53
AR RS} YINT NPh o 1 14 15 80 | 29 23 35
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HE B e vk 14 FhZ3)1] 4 JPN 13 || 47 10 | 28 [:] 22 27
wHE 0l AV 12 + i 4 JPN 14 18 45 | 29 43 13
1 I A% 473 41 e 4 JPN 14 04 49 | 28 28 94
A Kkl NED EMF 12 + 4 JPN 14 06 13 | 29 31 74
e % yvb 22 i 3 JPN 13 54 88 | 28 54 19
H2E I EEVLYE 45 B I 3 JPN 13 58 86 | 29 20 33
e B A MREVA 43 RE K 3 JPN 14 04 68 | 29 15 05
| = VAR 34 KB 2 JPN 13 58 40 | 29 01 27
. 0N VYY) 04 B % 2 JPN 13 58 00 | 28 40 90
=H L IN:V B A 45 = IFf 2 JPN 14 09 94 | 29 47 15
ZF AKX AV AVELY ] 34 Jh B 2 JPN 13 49 20 | 28 24 84
i3 — ¥ TY HATH 12 + i 1 JPN 13 51 61 | 29 33 36
Kig A AT vanb 15 85 8 1 JPN 13 54 51 | 29 33 52
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FrHER OB v Ty 49 % H 4 JPN 14 |:] 02 03 | 28 |:]| 51 68
K H= AR <tn 06 [ & 4 JPN 14 13 35 | 29 16 77
=Y S R rAb 40 & [ 4 JPN 14 10 61 | 28 49 71
IR B INY 7% 49 % E 4 JPN 13 50 33 | 28 21 10
L] AESUEVYY) 49 % JH 4 JPN 14 23 64 | 29 10 90
S S iy ¥ 49 % H 4 JPN 13 57 31 | 28 57 71
BRHEH O OHzE v}y ) 38 & hE 4 JPN 13 59 06 | 28 43 65
I3 J& A4 Hh TV 49 ¢ i 3 JPN 14 10 08 | 29 12 65
e B W EAEUYY) 49 % 3 JPN 14 34 80 | 29 43 33
R A VYA 49 % 3 JPN 13 46 84 | 28 47 66
W Rk ¥4 roed 49 ¢ i 2 JPN 14 08 87 | 29 25 42
EZC LS YER VD 26 I #B 2 JPN 14 06 75 | 28 50 70
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EH O Bl A9 i 36 {5 4 JPN 14 |:| 04 82 | 29 |:] 09 22
AR S L7%Y tn)) 22 # I 4 JPN 13 54 79 | 28 40 41
Ak g} 47 A b 49 % 3 JPN 13 56 86 | 29 36 47
4 PR VR4 22 i 3 CHN 13 50 28 | 29 17 03
AR A VIEREA 45 B IR 3 JPN 14 19 26 | 30 02 37
epk B Fhy vk 24 = & 3 JPN 13 50 31 | 29 17 39
B3 Bih V34 )y 04 = % 3 JPN 13 41 40 | 28 27 45
ok B M % 45 B IR 3 JPN 13 57 50 | 29 06 37
B k&b 3%y vanh 04 B % 3 JPN 13 58 31 | 29 56 23
JIIN B s EAZ] 42 E % 2 JPN 14 13 26 | 29 43 48
B RS W) any” ey 07 & B 2 JPN 13 51 18 | 29 52 19
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TEA Xy k TEA ATy b 11 8 % 1 KEN 13 20 40
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ey Bakst Yar ank 25 Wk A 4 JPN 13 59 46 | 30 00 23
KA HHE A= aktw 08 7& I 3 JPN 13 59 38 | 28 49 42
/INE AR VARSI 49 ¢ i 3 JPN 14 17 22 | 29 05 57
e e REN VAR 13 H 3 JPN 14 15 87 | 29 25 33
w5 =y F4 40 & [ 3 JPN 13 54 31 | 28 58 98
EI MESE Y4 A ana’ & = 3 JPN 14 09 00 | 29 25 40
v—Z— UL b - U 04 = R 3 KEN 13 31 97 | 28 25 20
AVE R A)nv tn 49 % H 2 JPN 14 03 48 | 28 44 62
FH OER M2y 49 & g 2 JPN 14 27 42 | 30 13 72
7 —%8 ISV VA 49 ¢ i 1 JPN 14 25 30
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FH A Thy ank 12 + 4 JPN 14 [ 25 |.| 41| 29 [:]| 14 |.] o7
pky RS} JhT AR 49 ¢ i 4 JPN 13 [:( 55 .| 75 | 28 |:]| 54 |.]| 48
i HE Yvh vanv 49 ¥ H 4 JPN 13 [: 88 |.| 72 28 [:]| 57 |.] 70
LA Ff TvEh V% 49 % 4 JPN 4 [:{ 19 .8 | 29 [:]| 54 |.] 16
A MEFH 7€) 2/} 15 #r B 4 JPN 13 | :| 54 |.] 49 28 || 25 |. | 21
IR A RE R IR 7T any 17 & 3 JPN 14 [:{ 30 |.[ 00| 29 [:] 48 |. ]| 64
R Ny anay 07 & B 3 JPN 14 ] o2 . 8 | 2 [:| 26 [.] 31
PR fét EINTYY AV% 13 3 3T 3 JPN 4 [0 11 |.| 20| 28 [:] 49 |. ] 64
T4 HE— FLAHEA 040 A 11 % E 2 KEN 13 |:] 26 |.| 77| 28 [:| 24 |.]| 57
KA B OKER e SEVEVEEY 08 &K Uk 2 JPN 14 |:] 20 .| 06 | 30 |:| 18 |. | 54
T CRHE VRAVIPEVAS 18 #& 2 JPN 13 [ 50 . 21 ] 28 [:] 33 |.] 42
B TR $r74 anp’ 40 & [ 2 JPN 4 [ 21 .3 | 2 [:]| 27 |.] 92
AR HEE AR Ky 03 = =F 2 JPN 14 [:{ 08 |.| 3 | 29 [:]| 57 |.] 99
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/N R — B x) Y ayfFuy 01 AbifFiE 4 JPN 14 | :| 04 .| 47 | 28 |[:| 49 |. | 10
RIK g} ALY HA 41 2 A 4 JPN 14 [:] 29 [.] 07 | 29 |:| 08 |[.]| 83
aln  FIK EVESVEDL ] 23 & A 4 JPN 13 || 56 .| 71| 28 [:| 38 [.]| 43
aA HhE AVEN B)< 28 It J#H 3 JPN 14 [:] 29 .| 14 | 29 |:| 38 |.| 81l
IR R an vy a4 42 £ If 3 JPN 14 [:] 20 [.]| 65 | 28 |:| 43 |.| 71
AR K SO 37 F I 3 JPN 14 [ 17 .| 53| 29 |:] o7 |.| 61
& H FH I8 Vay 34 KB 3 JPN 14 || 14 .| 11 | 28 [:| 56 |.| 88
(e A Tvrh tek 25 W 3 JPN 14 [:{ 25 [.| 26 | 29 |:] o7 |.]| 15
el ok N AESAVAG 40 & [ 2 JPN 4 [ 18 . 712 [:] 10 |.] 39
S EX yn'a Jany 44 K4y 2 JPN 14 [:{ 06 .| 8 | 29 |:] 00 [.]| 47
A HER TVEN a0k~ 01 JbifgiE 2 JPN 4 [ 17 .66 | 29 [:] 33 |.] 24
B sk AR EVAZ] 35 11 [ 1 JPN 14 [:f 17 |.| 23 :
Ji PN N7 ang A 30 Fnap L 1 JPN 14 (]| 11 |.] 10
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HiE B Vit v 4 JPN 14 15 |.] 05| 3 |:] o5 [.]| 18
B9 #K )T huh 4 JPN 13 55 | .| 10 | 28 |:| 29 |.]| 24
BN L B YF any” 4 JPN 14 04 [.| 16 | 29 |:| 34 |.]| 78
ZRE 6 TN FAR 3 JPN 14 3.1 9 | 29 [:] 13 ].] 26
FH OSEE T vty 3 JPN 14 17 . 55 3 [:|] 08 |.| 41
o RRH Ny akmn 3 JPN 13 49 | 74 ] 28 [ :| 55 |.] 09
(e SEA Tv)7F yuy 3 JPN 14 08 |.| 07 | 29 |:| 35 |.]| 36
A A YoEh 74% 3 JPN 13 52 | . o1 | 28 |:| 45 |.| 06
E s 177 7% 2 JPN 14 23 | .| 49 | 30 [:] 11 |.]| 88
B2 JAAN J=¥A tmp 2 JPN 14 03 |. ] o5 | 28 [:] 53 |. | 80
B BA NN /b 2 JPN 14 11 {.] 3 | 28 [:] 51 |.]| 19
HE ENAEEVAY 2 JPN 13 58 .| 73 | 31 [:] 22 |. | 61
N= 78 ¥ ) Wzl 1 JPN 14 20 .1 76 | 30 [:] 25 |.] 02
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B e VYN TR (L 4 JPN 13 50 | .| 73 | 28 |[:| 59 |. | 31
A FiH A% EN )Y & 3 JPN 14 12 (. 7 29 [:]| 13 |.] 50
ER VN AINT IR = 3 JPN 14 14 .| 72| 28 [:| 54 |.]| 69
BK AR S MREVL /S 3 JPN 14 06 [.] 20 | 29 [:]| 16 |.| 43
I E B AN NV 15 3 JPN 14 01 |.| 31| 29 [:| 25 |.| 80
(L i v F vy 1 3 JPN 14 08 [. | 15 | 29 |:] 26 [.] 96
7R B oA ah)) £ 3 JPN 13 59 [. ] 10 | 28 [:]| 59 |.]| 82
RE HEH AN L e 2 JPN 14 27 | .| 78 : .
B R vINTY hAT ¥ HE 2 JPN 14 16 [.]| 87 | 29 |:| 15 |. | 24
HE B B YAyl % 2 JPN 14 36 [.| 40 | 29 |:| 32 [. ] 57
o RESh Y AMEVI 17 2 JPN 13 50 | .| 00 | 29 [:| 19 |.| 86
PN THLT aghuy " W 2 JPN 14 14 [.| 08 | 29 [:]| 04 |.]| 88
L1y 7K S AR Y E R ) 2 JPN 13 52 | .| 09 | 28 |[:| 23 |. | 69
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700"+ 55 A EER H O = et dk (5000m) H o 5 sidk (10000m)
e 523 AT Fnb 04 = K 4 JPN 14 [:{ 15 |.{9 | 29 [:] 09 [.] 61
AR K b % 34 JE B 4 JPN 14 28 |. ] 08 | 29 |:| 24 |.| 60
FATK n W A 12 + 1E 4 JPN 13 50 | .| 45 | 28 [:] 31 |. | 80
= = NYRZi 41 2 o 4 JPN 14 28 |. | o1 | 29 |:| 54 |.]| 98
% EEE ISV VANEE 10 # % 4 JPN 14 10 ].] 00| 28 [:] 56 |.]| 83
/R Ff AT A% 13 3 3T 3 JPN 14 6 [.] 32| 28 [:] 50 |.]| 64
G U By Ay¥ 23 & AN 3 JPN 14 29 |.] 8 | 30 |:| 12 |[.]| 62
HHE W hATv 03 & =F 3 JPN 13 53 | .| 53 | 29 |:| 06 |. | 30
NI ) Ty 73 12 T 3 2 JPN 13 50 | .| 04 | 29 |:] 24 |. | 23
TR BHhr L VAN 37 & I 2 JPN 14 28 |. ] 87 | 30 [:]| 23 |.] 12
7 I5F FH S B J % yansey 49 1 JPN 14 8.1 8 | 30 [:] 15 [.] 60
HE At VA ES 49 % 1 JPN 14 10 |.] 90 | 29 |:| 41 |.| 89
s H 5521 I iy e 27 KX 1 JPN 14 36 |. | 97 :
H AR
K4 705"+ Bt T [EER H . = st sk (5000m) H C. % & i gk (10000m)
U VA NVEVED] 38 & % 4 JPN 14 || 22 .| 8 | 29 [:| 16 |. | 98
TR f&KE Ve 2w 21 I B 4 JPN 13 48 | .| 55 | 28 |:| 50 |. | 15
aART FIKR =Vh7 vagh 23 & A 4 JPN 14 10 (. 27| 28 |:] 51 |.] 23
g R T/ 70 46 I 3 JPN 14 08 |.| 46 | 29 |:| 19 |. | 30
K vy IEVAY 47 o HE 2 JPN 14 26 | .| 59 | 29 |[:| 17 |. | 16
AR L ATk any” 15 ¥ 5 2 JPN 14 32 [.1 8 | 29 [ :] 59 |.] 31
EH &5 MY 25t 25 % 2 JPN 14 36 |.| 48 | 29 |:| 28 |.| 59
RS TIVEY 70 20 B 2 JPN 14 13 |.| 64 : .
(e H e Y F vt 31 B I 2 JPN 14 34 |.] 96 | 29 |:| 57 |.| 47
AR RPN WE) L 49 % 1 JPN 14 26 | .| 83 : .
X NI XTI AA Y Tv) 97 M 49 1 KEN 13 36 [.| 9 28 | :| 13 |.| 10
i B A AL 09 #Fi K 1 JPN 14 10 |.| 55 :
= Bk fvhn bty 49 % H 1 JPN 14 48 | .| 50
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JIJR IEgE VAVARSE 06 LI J& 4 JPN 14 | :] 22 48 | 29 | :| 31 94
bk e ¥LT At 49 % 4 JPN 14 22 55 | 28 41 90
B MR Yy ank 49 ¢ 4 JPN 14 21 70 | 29 292 20
)1 Rie] Sy 49 % 3 JPN 14 21 76 | 29 16 68
E el L VAT 05 £k M 3 JPN 14 08 91 | 29 40 12
fEHE RKh VZAVEYIN 19 [ AL 3 JPN 14 22 78 | 31 05 74
EARHIEHE NeBT T Ay 49 % 3 JPN 14 12 09 | 30 11 23
RPN | W7 B A% 49 ¢ 3 JPN 14 07 34 | 29 10 00
g RA Y+ ko h 49 % 2 JPN 14 18 16 | 29 38 02

Cr—AA AFwY Y z=bhA hhyJ 49 % 2 KEN 13 24 73 | 27 50 54
B sk JHEN b 49 % 2 JPN 14 41 48 | 30 22 09
)\ S AT b7t % 46 FERE 2 JPN 14 25 79 | 29 58 66
g AN SRy 19 [ %! 1 JPN 14 17 76 | 29 51 25
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K4 705"+ Bt A EEE H . = st sk (5000m) H C. % & i gk (10000m)
i AR % 3vT 07 & B 4 JPN 13 |:| 53 02 | 28 |:] 11 99
WA & 3% At 13 # I 4 JPN 13 51 74 | 28 16 30
FERE 1E NAT Yy 07 t& & 4 JPN 14 22 75 | 29 53 54
FAA e KRR vIEN 2fuy 11 # % 4 JPN 14 29 77 | 29 17 11
E S VLT ML 14 f4Z3)1| 4 JPN 14 34 89 | 30 19 05
FH B VA MY 13 # I 3 JPN 14 35 21 | 29 53 58
I GES) Fhve anyan 11 # * 3 JPN 14 35 04 | 29 33 12
Bl dAE YT VA 07 & B 2 JPN 14 22 97 | 29 32 00
JRH  FER NTHT ARy 14 f4Z3)1| 2 JPN 14 20 38 | 28 58 83
IR 1B THEY) ay 41 2 2 JPN 14 11 56 | 29 27 85
HA R vh7 METV 49 % JH 2 JPN 14 38 59 | 29 49 90
fEH X VIV% Vavh 33 [ L 1 JPN 14 14 73 | 30 52 06
ATH  FIEE SEY AV 28 It JiE 1 JPN 13 56 65
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il FRO A7 A% 49 % 4 JPN 14 |:] 16 68 | 28 |:| 45 78
(I SEE \CUSELY/ 49 % 4 JPN 14 34 22 | 30 16 62
Ve 2 KB Ar VAES %S 49 ¢ 3 JPN 14 40 17 | 30 06 70
i L) A F A% 49 % 2 JPN 14 36 69 | 29 44 04
i ERAR % hvey 49 % 2 JPN 14 41 03 | 30 32 98
EH #E VAR 49 % 2 JPN 14 32 95 | 29 41 43
Bk EN 1593 KA} 49 % 2 JPN 14 42 75 | 30 09 18
/Nl A AT afk ag¥ 49 ¢ 2 JPN 14 30 86 | 29 38 73
HUR K] bty AR 49 % 2 JPN 13 54 37 | 29 06 51
R ZER AR AL 49 ¢ 2 JPN 14 16 10 | 29 36 82

LYo H Ty K7 — N ERINYIE 49 = g 2 KEN 13 35 56 | 28 28 36
KA IER TNy vien 49 ¥ H 1 JPN 13 59 82 | 29 14 96
HE &S Ty ¥t 49 % #E 1 JPN 14 08 70 29 12 10
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K4 705"+ Bt T [EER H . = st sk (5000m) H C. % & i gk (10000m)
A8y Hl av) Atk 04 = I 4 JPN 14 | :] 27 57 | 29 [:| 48 31
5 o —RR TR TRy 49 % H 4 JPN 14 26 33 | 29 59 94
4 EFRIK UISEVEVL 46 LS 3 JPN 14 17 10 | 31 41 81
T KFn Jh 0 ewb 12 + 3 3 JPN 14 12 37 | 29 18 79
s an vy wv 24 = H 3 JPN 14 22 93 | 29 40 93
A R ARTF any 12 T 3 3 JPN 14 14 78 | 28 49 55
R R kot ffz 18 f& JF 3 JPN 14 11 59 | 29 20 10
2 HRHE 3B INH 46 BEIRE 2 JPN 14 46 44 | 30 21 01
il JF ] FHENTT F)3 04 B Ik 2 JPN 14 30 11 | 29 52 30

FAEY R varyY RxA¥A FAC YL varh ¥ M4 12 T & 2 KEN 13 38 04 | 27 46 08
I N EEV 13 ) 5 2 JPN 14 36 27 | 30 18 67
AR A AFTEh vau 22 ¥ [ 1 JPN 14 45 13
R ACE wIYEEYYY 18 f& JF 1 JPN 14 51 66
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@b el 7040 T¥tn 12 + 1E 4 JPN 14 | :] 23 85 | 29 53 61
MES eEh Vanyy 31 & I 4 JPN 14 03 05 | 29 00 14
/R BRI an vy 14 fhZ3)1| 3 JPN 14 22 56 | 29 52 85
s LK Y% ank 13 8 i 3 JPN 13 57 29 | 29 18 86
EHE TE Fpr ATk 07 & B 3 JPN 14 21 44 | 29 36 33
PEH R =V L5 11 = 3 JPN 14 15 20 | 29 33 44
v—4— Hvv A By 49 & 3 KEN 13 55 37 28 21 49
A K SOZMEVL. 45 = I8 3 JPN 14 19 02 | 29 33 14
AR Aav Frax 11 % £ 2 JPN 14 10 59 | 29 41 47
JIRs A L) VAEYY N 26 5 AP 2 JPN 14 20 52 | 29 21 46
TrEn Jenk Brvx any 20 £ % 2 JPN 14 23 37 | 29 52 38
(AL =y i MAD 24 49 ¢ 2 JPN 14 15 98 | 29 40 87
VAN N- Y T 28 It JiE 1 JPN 14 26 69
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HE  Dest By ank 07 & B 4 JPN 14 10 67 | 28 54 78
KE BE AT 4= ah 18 & #t 4 JPN 14 08 00 | 29 38 83
iy 5L Yvyn ayrk 47 o fE 4 JPN 14 27 18 | 30 09 48
AR B TVEN RAJT W 40 %8 [ 3 JPN 14 41 98 | 30 58 30
BT YA Y By ¥AY 4 K4y 2 KEN 13 39 16 | 28 11 79
FHE K— 7N T 09 #F K 2 JPN 14 07 93 | 29 29 67
fEH LA VA 14 f4Z3)1| 2 JPN 14 22 19 | 29 39 54
A s vyt Kb 14 FhZ%)1] 2 JPN 14 30 68 | 29 48 58
AR ey N N R ey 08 & I 1 JPN 14 22 76 | 30 25 44
Kb B F 4=y anh 26 7 AL 1 JPN 14 03 88 | 30 39 18
HER—} 1y Ay b 47 P B 1 JPN 14 24 70 | 29 53 82
12 i 2 VBV 13 ) 5 1 JPN 14 24 54 | 29 55 29
fH K2 DT bk 14 f4Z3)1| 1 JPN 14 27 63 | 29 40 84
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KA fd=f THh= /b 11 = 4 JPN 14 |:| 16 03 | 29 |:| 47 02
BA R NEN THE 13 ) 5 4 JPN 14 13 91 | 28 40 83
—H ] NVAVEY, 04 B Ik 4 JPN 14 15 12 | 29 13 14
KEy  A&F ) agh 14 FhZ3)1] 3 JPN 14 41 83 | 30 54 17
K HEAN TAE) APh 08 % % 3 JPN 14 38 20 | 31 40 49
oy R eth it bEY 08 % % 3 JPN 14 33 01 | 30 17 44
=H OBEK NPT 11 % £ 3 JPN 14 34 16 | 29 41 08
i RN DRFAT 2k 15 85 8 3 JPN 14 32 16 | 29 25 31
NI 5 UVRCEMAEVY | 11 % £ 2 JPN 14 32 11 | 29 12 31
B JEVEEUT 13 1 % 2 JPN 14 41 62 | 30 16 00
T i Iag bV 40 %& I 2 JPN 14 04 28 | 28 47 98
Al Y2 VA 09 #i K 1 JPN 14 53 33 | 32 22 73
FHEF  BEFH By) TEb 1 = 1 JPN 14 44 66 | 30 58 75
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FIH KR B RE 2k A 49 ¢ il 4 JPN 14 | :| 37 83 | 29 |:]| 33 45
Y R Fh= vavF 49 % 4 JPN 14 39 22 | 29 53 54
ST AR v 73 49 % 4 JPN 14 31 13 | 29 27 26
fade 5B AFE) anh 49 % E 3 JPN 14 11 24 | 29 02 72
FIl ik W VAEVLN 49 % 3 JPN 14 01 36 | 28 27 51
LE SR YWY Uaul 49 ¢ il 3 JPN 14 48 93 | 30 19 00
it HK TIA4 ok 49 % 2 JPN 15 10 18 | 30 16 62
Zhe HA T/ bnok 49 ¢ il 2 JPN 14 43 77 | 30 15 41
2a AR AXH= VU= 49 % 2 JPN 14 31 12 | 30 40 74
A JEIK =VEL aUH 49 ¢ i 2 JPN 14 43 41 | 30 21 75
BEH  #K I FoH 49 % 2 JPN 14 49 98 | 30 28 37

Tarvyvyyry 5 v vy ®F = 49 % f 1 JPN 13 30 13 | 28 12 55
i lIRF 2 XA U 49 % H 1 JPN 14 42 64 | 29 51 70




